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RERH(N) 30 30 185 30 15 30 80 30 0 0
4R |HEHN) 15 15 99 0 0 15 64 20 0 0
HEH(T—R) 1 1 6 0 0 1 4 1 0 0
RERB(AN) 45 45 181 60 15 35 46 25 0 0
SA |BREHN) 15 15 24 24 0 0 0 0 0 0
B (3—R) 1 1 1 1 0 0 0 0 0 0
RERH(N) 30 30 202 36 15 50 76 25 15 1 0
6R |BREEH(N) 0 0 112 32 0 0 50 30
BB (3—R) 0 0 6 2 0 0 3
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RERE(N) 45 30
TH [BREHKN) 30 30
HEH(3—R) 2 2
REHE(N) 30 15
8A |BEH(N) 15 15
HEH (2—R) 1 1
RERE(N) 30 15
98 [BEHKN) 15 15
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170 19 15 65 56
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185 34 15 65 71
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N BHEH(O—R) 1 1 4 2 0 2 0
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RERB(N) 30 15 1 176 15 30 35 96

108 [BEHN) 0 0 70 0 0 0 70

HEH(2—R) 0 0 4 0 0 0 4
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RERE(N) 45 30
1A [BEHN) 30 30
B (I—R) 2 2
REHH(N) 30 15
127 [BEHN) 15 15
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166 30 30 50 56
69 24 0 15 0 3
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157 21 30 50 56
99 29 0 35 35
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B (3—2R) 1 1 6 2 0 2 2 0 2 2
REHE(N) 30 0 30| 164 23 30 45 51 15 0 0
1R |#E#HAN) 15 15 0| 128 23 0 15 30 0 60 60
B (2—R) 1 1 0 4 1 0 1 2 0 2 2
REHE(N) 15 0 15 96 15 15 30 36 0 15 0 1
2R |BEHN) 0 0 0 80 15 0 15 50 0 30 15 1
B (3—2R) 0 0 0 5 1 0 1 3 0 2 1
REHE(N) 30 15 15 40 15 0 15 10 0 15 15
3A  [BEHBN) 30 30 0 95 15 0 15 30 35 30 30
HEEH (2—R) 2 2 0 5 1 0 1 1 2 2 2




